restart

A:=array([[2,3],[1,4]])

23
A=
1 4
with(linalg) :
MatExp = exponential(A, t)
3+, 1 5: 3 5¢ 3 4
4 e+ 4 e 4 € 4 e
MatExp =
LCSt_Let iet—i-ieS’
4 4 4 4
1l == map(rcurry(eval, t =0"), MatExp)
10
1I:=
01
MatExpDer = map(diff, MatExp, t)
3 ¢+, 5 5015 50 3 4
AT 4T ye
MatExpDer :=
ieSI—ie’ iet_i_ﬁ 51
4 4 4 4
AA = map(rcurry(eval, t =0"), MatExpDer)
2 3
AA =
1 4
restart
Ecua == diff (F(x,y),x$2) +5-diff (F(x,y),x,y) +6-diff (F(x,y),y82) =
Ecua:ZizF(x,y)-l-S( 62 ))+6 %F(x,y) =0
ax ayax oy
with(DEtools) :

SolGral = pdsolve( Ecua)
SolGral =F(x,y)= FI(y —3x) + F2(y —2x)

Comprobacion = simplify(eval(subs(F(x,y) =rhs(SolGral), Ecua)))
Comprobacion :=0=0

restart

Ecua = diff (z ), x$2) —2-diff (z ), X, V) -I—dljj’ z(x,y),¥82) =
Ecua = % z(x,y) — ( )) + % z(x,y) =0

®
(')yax
SolGralUno == z(x,y) = _FIl(x+y) +x- F2(x+y)
SolGralUno =z(x,y) = Fl(x+y) +x F2(x+y)
SolGralDos = z(x,y) = Fl(x+y) +y- F2(x +y)
SolGralDos =z(x,y) = Fl(x+y) +y F2(x+y)

ComprobacionUno = simplify(eval(subs(z(x, y) =rhs(SolGralUno), Ecua)) )
ComprobacionUno :=0=0
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> ComprobacionDos = simplify(eval(subs(z(x, y) =rhs(SolGralDos), Ecua)))
ComprobacionDos :=0 =0 13)

;> with(DEtools) :
> SolGralFinal == pdsolve(Ecua)
SolGralFinal :=z(x,y) = Fl(x+y) +x F2(x+y) (14)
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